University of Mumbai SET 2

5 Years Law B.L.S./ LL.B. (Semester —I) University Exam (June 2022)
Subject: Logic- |

Q.1 Multiple Choice Questions (30 Marks)

1. Quantification consists in a propositional function of all or some of the values of the
variable. / SEATY UTS! faeT1a eI S faem fRresfauarsan ufshda sifkia
i fdhaT AT SIS &l ST,

a. Asserting/ 9fduTG 00

b. Denying/ TR Tae TRITTT HR00
C. Merging/ﬁ?ﬂ:ﬁw

d. Classifying/?ﬂw

2. Acomponent is while the constituents it combines can be

gch 3l JUT ST A i1 Siiedl df 3 e,

Subject term, Predicate term/ 3 Ug, fadg ug
Universal, Particular/ W, fo=Iyar
Traditional, Modern / URUTR®, YD
Contrary, Contradictory/ qpﬂafreﬁ, IS

o0 T o®

3. According to logicians, laws of thought were considered to be the necessary and
sufficient conditions for valid thinking. / do YRR A, foaRid e ergam
Tfehadl STURYT dw 3HTed.

a. Traditional/ GRUTR®
b. Modern/ HTW

(o

d

. Both traditional & modern/ TRUR® ATOT YD alg)
. Neither traditional nor modern/ TRUR 3101 &ﬂw il el .

4. Square of Opposition is a kind of an inference based on the relation between
propositions/

faem fajiy ol AU IRER G RITMUYT HRUR STHH 813,

a. Categorical/ bad [du™
b.  Hypothetical/ qraef faem™
¢. Conditional/ TOTY® faem
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d.

5. " Life is misery. Therefore, death is happiness™- it is an example of what type of inference?

“S1q § g1 318 U I & Y 3116.” § DIV UHRAT STHM ST 3H18?

Disjunctive/ 3 e faem

Inference by Converse relation/ faeig TaurgR S{JHIH
Conversion/ TR
Material Obversion/ Hifde Tciad-

Inference by Complex Conception/ SIcTd Heheu-gR FIHH

6. White and non-white’ are

Y T SYY / A T Y 3MTed.

a. Contrary terms/ faRet g
b. Complementary terms/ YI&h ug
c. Contradictory terms/ TN Ug
d. General terms/ I Uq
7. Division of a watch into ‘dial, hands, spring, wheels’ is >4
eI ' S, 384, fBiT, &ie 78 fayre o0 3R,
a. Verbal/ Rfeg
b. Physical/ AU
c. Metaphysical/ HUTFq"J-HGF[
d. Enumeration/ Ul
8. The contrary of "Ministers are always politicians” is /
T AT Ieiepx Uit 3R AT fauie feRiedt 38,
a. "Some ministers are politicians”/ "®Te! H3il ISTH R STdTd"
b.  "No ministers are politicians"/ "HIUTAG] HAT ISTHRUT AT
c. "Some ministers are not politicians"/ "PTal HAT ASTHRUN THATd"
d. "All ministers are not politicians"/ "4 T ATHROT T

9. A definition that defines a phrase by stating another phrase having the same meaning is

a.  Ostensive definition/ Fd2Te saram
b. Extensive definition/ 3algRUMTHD URA]
c.  Biverbal definition/ Ufc=Teg ARAT
d.  Lexical definition/ hI=T SIRSAT
10. The fallacy of circular definition occurs when the is used to define it. /
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11.

12.

13.

14.

15.

Sieg] ARIHE 8 URYINT HRUGMTET aTRA T degT Isheh RSl &Iy Bl

a. Definiens/ SURATd
b. Word/ e

c. Verb/ fpamug

d. Definiendum/ TRET

is defined as reasoning based on similarities/

<] IR ATERTAT SHTYR AT DHR0I Bl .

Dilemma/ SHITII
Syllogism/ des Tfaem

Analogy/ HTRITHTT
Deductive/ T

o0 o w

terms can never be true together or false together. /

Uq Halil 9 fdhdl SR 3R Qrdhd ATgId.

Contrary/ faRie ug
Contradictory/ TN Ua
Mixed/ T8 UQ

Sub- contrary/ CULEGRSES

o0 T ow

term/s is/are distributed in the Universal Negative proposition/

Uc a-TRdard! fA4Td T 34,

Subject/ 31 UG
Predicate/ fa9g ug

Both Subject and Predicate/ BQQI gfadaug
Verb/ fobamdg

o0 o ®

Inal an argument the conclusion necessarily follows from the premises/

3T v U ey fAfgduot srear S,

Deductive/ =
Mixed/ T8
Invalid/ 3{de
Inductive/ faTTHA

oo o w

“Mr Modi is the Prime Minister of India but not the President’ is a/ an proposition. /

sfigd T YRAT YUY SR UUT 3iegef id.” § U faem omg.

a. Conjunctive/ 3T
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c. Implicative/ JTue
d. Biconditional/ ¥HHcY

16. “If today is Sunday then the college will be closed." is if the antecedent is true and
consequent is false. / “SR TS IAGAR AT TR Hicio dg SR 8 fAUM SR gaiT 9 ¥
d ITRIT 3 3 R 31

False/ I

True/ I

Doubtful/ TRARUE
Meaningless/ G{%Y_aﬁ:[

o0 ow

17. The universe of Discourse of the term 'brown' is ¢

‘Brown' 7 Uard faaxur fay _ 3Tg.

Quality/ IJUT
Furniture/ B eR
Shade/ T &l
Colour/ &

oo o

18. Circumstantial evidence is used often in establishing guilt.

3ORTY Ry HRUFRITST THGRIT qRIaT TadT aTaRa i,

a. False/ 3

b. True/ 44

c. Doubtful/ GRARUG
d Meaningless/&r%f'sﬁ?

19. Traditional Classification of propositions is based on the principles of and

URUIRS UM arffeor  3ffor =] dxaiaR YR 38,

Division. Classification/ faHmToR. Teffezor
Equality, Inequality/ JHTAT, STHHT]
Induction, Deduction/ faiH= A=

Quality, Quantity/ [T, YHTUT

oo o

20. According to the Law of Torts, there are two kinds of nuisance, and v
Torts HRIYTAR IUSAT M 3 GH UPHR 3HTed,

Common and uncommon/ dTHT, 3{HTHI
Useful and useless/ STANTT, ETantt
Public and private/ @rorft, g
Special and general/ IEEIASIEIRUY

o0 o
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Q. 2 Descriptive Type Questions (30 Marks)

10.

Define Logic and discuss its usage (any two) in the field of law/
A RARI SIRE -1 g faeft IR e Hgwd WY &,

[llustrate how do component and constituents of a proposition differ to each other?

"JH TR U g Ao THHBTUET AT HY Ted”, § T B,

Define Logical Division. Explain any two fallacies of logical division with example.

difdhes fAHTS aRYIG 1. difdhes AT PIUTde! S SN IaTEIUTHE WP HII,

Reduce the following sentences to their logical form and identify the term distributed.
a. Every student is honest. 1 U faendf urore Sral.

b. Are not some facts stranger than fiction? / BIe] A Hea-Uel 35! ATeld B2
c. Judges are not at all partial. 1 =ranediRT SfSTaTd UeuTct A9,

Explain Law of Thoughts as applied to propositions. /

"dep faumIdie faaR Fawi Surie [y $3.
Define Industry as per Labour laws. / PTHIIR hTILIIR BT SRS DA

Do as directed:/ TR ﬁé*?llﬂﬂl? JUTAR P

a. State obverse and converse of “No humans are perfect”. (E)/

The! AT Uyl qar a1 faumre ufdad a gikad o,

b. State the sub-contrary of “All crimes are punishable”. /

4 T[g FRIETUTS 3iTed a1 faumrd sreffausid faxte i,

“A definition must not, directly or indirectly, define the thing by itself”’- discuss with reference
to the rule of Per- Genus- et- Differentiam. /

STl d SOdwd e U RTON=T SgRe=T deHid Ham Ty o,

What is analogy? Explain the factors on which its soundness depends. /
JIRATHMAT RAT HR1. 3P T RATTHAT T i,

Symbolize the following propositions by using propositional functions and quantifiers:/

3T - 9 GBS aIee- Wrdid [y fagie .

a. Most Indians believe in karma. / SgAIT HRAATE HHTGR [TYTT 3118, (Ix, Bx).
b. Nothing is changeless. / ®Talal URad-1 ATal. (Cx).
c. Mangoes are rarely sour. / 3{idl Siedd 3fidc 3! (Mx, SX).
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